Sample space

The set of all possible outcomes.
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Definitions

Mutually exclusive events are events

that can’t happen at the same time.

Independent events one event doesn’t
influence another.

Conditional probability one event
affects another and probabilities change.

Exhaustive events cover the entire

P (event wont happen)

= 1—P( event happens)

P(A’) refers to the probability that event A
will not occur.

P(A U B) refers to the probability that
event A or B or both will occur.

P(A n B) refers to the probability that both
events A and B occur.

Venn diagrams

A Venn Diagram shows the relationship between a group of different things and
how they overlap. (You may be asked to shade Venn Diagrams as shown below)

Two way tables

Tables used to compare the relationship between two discrete data categories.

Add going down the tree diagram.
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